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EUGENE DIETZGEN CO.

DRAWING MATERIALS, MATHEMATICAL and
SURVEYING INSTRUMENTS
Chicago New York San Francisco New Orleans Pittsburg Toronto
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Distances from Center of Roadway for Cross-Sectioning
,d dway 16 feet wide. Side Slopes 1 on 1.
ﬁo ISEgle Track Embankment.
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Example—If point is 22.6 ft. above grade, how far should it be from center line
to be & slope stake point? Ans. from Table 30.6. For same slopes but_other widths
of roadbed, correct above figures by one-half difference in width of roadbed; thus in :
example above, for 20 ft. roadbed distance will be 80.6+-(20—16)+2 or 2 ft. added to
30.6 =32.6. For slopes of 1 on 14 seeinside of back cover.

Copyright, 1914, by Eugene Dietzgen Co,
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be 41.94 (20—16) =2 or 2 ft. added to 41.9 =43.9,
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y one-half difference in width of roadbed

CROSS-SECTIONING.

Roadway 16 feet wide. Side Slopes 1 on 15.

For Single Track Embankment.
Copyright, 1914, by Eugene Dietzgen Co.

DISTANCES FROM CENTER OF ROADWAY FOR

stake point? Ans. from Table 41.9. For same slopes but other'widths of

4
Example—If point is 22.6 ft. above grade, how far should it be from center lize to
ope

F'slopes of 1 on 1 see inside of front cover.

e for 20 ft. roadbed distance will

@hed correct above figures b;
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if'both w and h are la
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Y
y the difference between the cuts (or fills) on each side of it (

always subtracting the outer from the inner,

e sum of the outside cuts (or fills)

actically 160 cu.
=w, add the triangles formed b;

T
ply result%y 2,
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Table gives cu. yds. in 1 ft. of a iriangle of given width and height.
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h, and 14 the roadbed
break in turn ( =w’s) b;

h =5.




